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Tutorial 2




Predict the output of the following program. Then run it to make

Questio

sure your answers are right.

{

public static final 5tring sentence = "My school name is Concordia.™;
public static void main (String[] args)

{

package string;
public class IZ2Questionl

int position = sentence.index0f ("=school®);

String firstPart = gentence.substring(0, position);

String afterChange = sentence.substring(position + &);
String newsString = firstPart + "university" + afterChange;
System.out.println("The line of text to be changed is: ");
System.out.println(sentence);

System.out.println ("I have rephrased the line to read:");
System.out.println(newString);

Yy // end of main ()




Ques
The following Java program contains several syntax errors. Identify and

correct them. Then try to compile the program to make sure your
answers are right.
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public static void main

{

Scanner keyboard
final double tax_rate
S RS ot s B b

double tax, net_salary;
System.out.print
salary
tax salary * Tax_rate;
net—-salary salary - tax;
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System.out.println
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System.out .println

GERasE:

(String|[]

new Scanner
O=2:0%

("Enter the salary:"
keyboard.nextInt () ;

("Salary before Tax:

("Net Salary after Tax:

args) ;

(System.in)
// 20 % salary tax

) ;
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varvnetisa larys;




Questi

Predict the output of the following program. Then run it to make
sure your answers are right.

package string:
public class g3{

publiec static void main(String([] args)

{
Syatem.out.println("\n\tGreseeesrings. \rtWhen you want to run your JAVA Program \b\b\bmake sure,\nthat you " +
"correct the syntax eerrors \"Cooccl Advice \\fun\" from. \n ' someone \t \t want to help you!\n ' ");

} // method main

} //class g3




z Ques@

Write a program to calculate a rectangle area. The user

should input the length and width of rectangle.




ue

Predict the output of the program and make sure your answers are

right by running them.

poblic class g5
{

public static void main (String([] args=)
int x = 10;
int v = 12;
int iReault;
Float w = § _5f:
float =z = B.ZF:
float dResult;
iBesult = (int) (z / w);
dResult = v * Xx;

X = 2=
dResult = = / x:

x = 10;
v = 4;

S /Hotice that the following
dBResult = (float) (x J ¥):

S f The proper way to do 3o would be
dResult = (float) =x / ¥:
Syatem.cut.println ("dRe=ult

Syatem. out.println("iresult now is:

System.ocut.princln ("diResultc now is:

Syscem.out.princln ("dResult now is:
asz rtollows

nowWw is:

" &+ jResuylt + "™ and dREesult is: " <+ dResglc)

" 4 dBesulrt):

" + dBEesulrc):

" <+ dEe=ulc):




